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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question. '

Which one of the following is the smallest quantity : : < é;ﬂf & o S u/ e U~ J;’@» 1 -1
5000 ng (D) 100 #g (C) 2mg (B) 0.01 g (A)

A change in position is called : 3 du u&,v“ BV
Momentum (‘j“/r (D) Displacement .»/9-“5 (C)  Velocity $s (B) Torque St (A)

Inertia depends upon : febm A& K 1|3
Velocity &5 (D)  Mass UL (C)  Netforce o’ (B) Force Us? (A)
The number of perpendicular components of a vector are : < Jn ey JJ%{@/L}QU/ 4

4 (D) 5 (C) 2 (B) 1 (A)
Earth's gravitational force of attraction vanishes at : L 3{; n P J/?dgf J LilS
2% 1000 km (D) ¢#¢# 42300 km () Infinity £ te62.e (B) 24 6400 km (A)
If the velocity of a body becomes double, then its : &i!u@’éw/w?z_tgnbﬁ;f U;Jf'u’( ile

kinetic energy :
Becomes double < (bxt (B)  Remains same < Guzd (A)

Becomes half 4‘;‘3@4.&«3 (D) Becomes four times q_&{gﬂb@g (C)

In SI, unit of pressure is Pascal, which is equal to : : §.t‘m‘x.,u'é¢f&¢x‘a’@/,d¢ﬁf’k 7
10° Nm™ (D) 10> Nm® (C) 1 Nm™ (B) 104 Nm™ (A)

Which of the following material has largest specific heat : = ﬁ;JbK/y‘;a/iip)ng)ﬁ e l/u/ 8
Mercury &/ (D) Water dg (C) lce <z (B) C'Qpber 26 (A)

In solids, heat is transferred by : o0 I e JE g% U |9

Absorption u%lx! (D) Convection u'"‘g/ (C) Conduction u’( %7 (B) Radiation gﬂuj,ﬁ/ (A)

Rate of chaﬁge of momentum is equal to : e 2;": S8 J“,v“ e f““/ 10

Velocity u‘”u; (D) Distance 6 (C) Force Ju# (B) Torque ot (A)

Mass of the earth is : g L § e 11
6x10'" kg (D) 6x10"%kg (C) 6x10% kg (B) 6x10° kg (A)

The ways by which transfer of heat takes place are : &L e JE |12

4 (Dy 3 (C) 2 (B) 1 (A)
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10 2. Write short answers to any Five (5) questions : ol AT 4 /"" L =iy iy (5) EL P Jf
(i) Define base units and derived units. _i/ ,...ai/" g y’? 32l J‘! Sobx (i)
(ii) Define positive and negative zero error of vernier callipers. _ZJ/LL/WJ}*L’J:V/!Z_ J.u.fo/A (i)
(iii) Define prefixes and give two examples. L uﬁjv 2 sl é .sJ/’ d ,u.fﬁd/ (iii)
(iv) Define velocity and write its formula. _E‘.U/ Uf‘/b § U1l é ....af/" J JU} (iv)
(v) Convert 50 Km h ™ 'to ms L. 5 & S ms~ / 50 Kmh ( )
(vi) Define rest and motion. é:, J/’ J 0% M s (i)

(vil) Why rolling friction is smaller than the sliding friction? ‘c. dr uf / = Lff) ok 5 u / ey (vii)
(viii) Define centripetal acceleration and write its formula. -&GU}”JL&BJW i/._e//’uu.m.: ,.mLSJ*g_,// (viii)

10 3. Write short answers to any Five (5) questions : : J 24 /"" L ....«Ulr (5) & 5& & df -3
{i) Differentiate between like and uniike parallel forces. é’f fjls u/ e /u’ v !/ JM 28 JJ (i)
(i} Define torque and write its mathematical equation. ‘,é'g il dw 1Y éi/ ».JJ/ u( b (i)
(iif) What do you mean by centre of gravity? 0 ~/ Lf = u”i/ 37 ~" (iii)
(iv) What do you know about "G"? What is its value? "c.tf_u’d LML U";JLL “G" (iv)
(v) Define artificial satellite. _éf ...a//’ J "L"‘” S (v)
(vi) Define orbital velocity and write its formula. -.:;:_f /f U6 K Sl é’f _.u/" J U Us J’/ T (vi)
(vii) Define power and write its formula. _“i_: /j Us /B & 1 sl c{ u_.n//’ L} s34 {vii)
(viii) What is meant by the efficiency of a system? fe sird Yo (j’pdjl d/ f/ &5 (viii)
10 4. Write short answers to any Five (5) questions : 7 é =2 /‘" L _,wr (5) ét & J/ -4
(i) Why strain has no unit? Give reason. -c?.. bk o "L f Jr 2K o )
(i) Define elastic iimit. -éi J/’ J 2 / JLL (in)
(i) Write down the formula of pressure and strain. .yé”.( byl 6 o ol /.{{ (iir)
(iv) Define latent heat of fusion. -;5 .,,g//‘? ;j/ =7 a d/ 5‘\L3.'<.» (iv)
(V) What is meant by internal energy? ‘L‘w ol LJ = SO JE
(Vi) What s the effect of temperature on evaporation? Se by U § f/ u)/r/l (vi)
(Vii) How does heat reach us from sun? ‘e iz 4{ J e Zﬂy &7 (Vid)
(viil) Why does land breeze blow in the night? “a u% u;f = Lol Sx ff' (viii)
(PART - I1 (194)
Note : Attempt any TWO questions. ..J I 4 L ey s e Jf <
4 . (a) State Newton's first law of motion and -é—o}(ﬂﬁ'&,)ﬁdu}}v})ﬂﬁ{dbu}’bw{ e (L) 5
explain with the help of two examples.
5 L& Lob4 100 - 3L 2t AL FIHE 0.5 ms™ e cMeded g ki (L)
(b) A train starts from rest with an acceleration of 0.5 ms ™ ‘J/ytfu.. kmh ™ L’uu’/p’
Find its speed in Jon /™' | when it has moved through 100 m?
4 6. (a) Define potential energy, give an ..Z:(ié’:..ub/d//,fbﬂé)dt‘?..ﬁ ff"J/L[J/’% () .6
example and derive its equation.
5 (b) Find the magnitude and -< 5N wr‘ Y ssl 12N ..»»rf X Ku)at\./u’ M’JJA’J' Cii)

direction of a force, if its X- component is 12N and Y~component is 5N.
4 - 7. (a) State Pascal's law and explain hydraullc press. -f:ww;ugf/..ﬂuytu’é sl KJLL () .7
~E bl c.U/w(‘/:«. 20°C = 0°C SLud@Fhfsire ()
5 ce 25x107 KT S Suat ¥ s Mgl e

{(b) Calculate the increase in the !Lng*h of an aluminium bar 2m long when heated from
G°C to 20°C" . The thermal coefficient of linear expansion of aluminium is 2.5x10™ K
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Rate of doing work is called : 1 a/ S8 LS dulr
Momentum (yr‘ (D) Power »{ (C) Torque 5t (B) Energy /' (A)
Land and sea breezes are the result of : Y ,sf' S (f 2 S (»J 2
Absorption 13! (D) Radiation u?!déj (C) Convection ‘f{/ (B) Conduction f 2 (A)
The number of perpendicular components of a force are : : 9.[539’»7 J ‘f“‘”;:{ 1T L }5 u’{ 3
5 (D) 4 (C) 2 (B) T(A)
The density of ice is : ' 2 ¥ «f /14
800kgm™> (D) 2700kgm™ (C) 920kgm™ (B)  1000kgm™ (A)
Which scientist observed that it : e ksl ThU AP e Y tis] Wosted_guFlu” |5
is easy to move or to stop light objects than heavier ones :
Alberuni U521 (D) Einstein /T (C) Galileo f‘f‘ (B) lsaac Newton (XS5 T (A)
An interval of 200 45 is equivalent to : Lo o B ¥ 264, 20016
2x107° S (D) 2x107*'S (C) 0.02S (B) 02S (A
Earth's gravitational force of attraction vanishes at : . Jlg » Al Ju" ﬂdx/f J Lal7
2## 1000 Km (D) £ AF 42300 Km (C) Infinity £G4 (B) £4¥ 6400 Km (A)
Which of the following is a vector quantity : te Ay I § u;'/ = U~ J”:s 214218
Displacement Wy (D) Power s} (C) Distance 6 (B) Speed 4r (A)
In which state of matter molecules do not leave their 2 Z.b%’uﬁﬁ){@ !ﬂzg Luﬁ:/’bu’u/&;t 9
position :
Plasma iy (D)  Gas u? (C) Liquid &L (B)  Solid u¥ (A)
The speed of geostationary satellite with respect to earth is = - e Ay O Y /'“/:"’z,?c,BL%Lui’J 10
8kmS~ (D) 10 kmh™ (C) 10 kmS™' (B) Zero 2 (A)
Inertia depends upon : t AA 1
Velocity §1s (D) Mass Ut (C) Netforce Jsder (B)  Force Ui? (A)
Which material has large specific heat : - Jb ¥ o 2] 1% Jj/’i’.' v u/ 12
Mercury §/7 (D) Water 3} (C) lce Sz (B)  Copper 4§ (A)
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40 2. Write short answers to any Five (5) questions : : é = /;” L =iy (5) ék e 8/ <2
(i) Write any four names of base quantity. -Zﬁa rt vl Ul d:.l.:&. {.tf g d/ (i)
(i) What do you mean by scientific notation? Give example. s Je fe g g ._Q?’/ (i)
(iii)y What is meant by vernier constant? S il Q/ & 2 ﬁ» (iii)
(iv) Differentiate between scalars and vectors. -“é (‘j b3 )f-’:/) s J/Jz’“/- @iv)
(v) Define acceleration and write its formula. -"ig Ui 8 1 st ._é h..g,f/j. U( (j?- (V)

(vi) Describe a vector by graphically method. -_.é = .’:}J,/’ ‘}QU/ AP ¥ }gﬁ (vi)
(vii) Define force and write its unit. &b A Rl gi: /7 J o9 (vii)
(viii) Whatis meant by coefficient of friction? Also & f‘/yu&JJ ! ?4‘-)4/&@:, S Tastd i (viii)

write its symbol. .
10 3. Write short answers to any Five (5) questions : - é A2 /""' L =iy (5) ég e Jf =D
e sy = ()
(i) Define moment arm. -é ..4,1/7 d/ pl’ 2oyt (i)
(iii) State the principle of moments. -g‘:;( ok ' u’b}” i) J-/{ (iii)
(iv) What are artificial satellites? S tfb u:' :Uéf" St (iv)
(v) What is meant by force of gravitation? fe sl kf 2 u%dg/ JT”JJ;’ (v)
(vi) What are natural sateliites? U Y u’b" e A (Vi)
(vii) Define kinetic energy and potential energy. -gf:/ .4/7 J Ssl J’Q s S/ V@ég (vii)
(viii) How can you find the efficiency of system? S = S ()” 4/ \?«l’xu;x._;.& P J (L/ (viii)
10 4. Write short answers to any Five (5) questions : : é =R /"' L =iy (5) be éf -4

(i) What is meant by resultant force?

(i) Define density and give the density of water. -é Yk &'2“5 J ‘3!;, 3! {; ..gi; J ﬁ)" (i)
(i) What is elasticity? e Y RN
(i) Define stress and give its unit. el o’{ 2 s 24 .4:3/7 p( u{'j/ (iii)
(iv) Define internal energy. P4 h..e{/." d/ &st Jj’-! (iv)
(V) What is meant by latent heat of vaporization? T oy g & il (3; J ﬁ"/’wg: (v)

(vi) What are the three ways of transfer of heat? Wirite their names. -’&U ( (L UR )’JL@JVJ@:' (vi)

& 7P I i

(vii) Define thermal conductivity.

(viii) Write two uses of convection currents? & Jer £ 571 u;ﬂ':/ (viii)
(PART-I (1.2 )
Note : Attempt any TWO questions. i an Loty »e 8 ed
4 5. (a) State and explain law of conservation of momentum. -éyu;/:téuguisKﬁ;JfKﬁ'fy (W) -5
5 Lo Jb Lol 100 -8/ c,;uzjvéﬁkgé 0.5 ms™2 e eHbdedig it ()
(b) A train starts from rest with an acceleration of 0.5 ms 2, ?Jng’u: fmh ™ ,Q,»{JQ/‘/;J

Find its speed in kmh"I . when it has moved through 100 m?
. . P -
4 6. (a) Define equilibrium. State and explain _"é_vl.-'aw’uy/"Jb/u%;Jé/'d% f -Né.y/’g(é/df! (W) -6
first condition of equilibrium. .
5 -< 4000 N W/Jdgdb&/f{w ~<"_d/.~/(]c,§-::’¢ui’fp( 4ms™" gL ()
(b) A motor boat moves at a steady speed of 4ms™". Water resistance -"é (}’”»gd/ J ’Lu‘ f
acting on it is 4000 N. Calculate the power of its engine. ’
4 7. (a) State Pascal's law and derive an -é}'afﬁvuggﬁ/?v@/}fl‘,g/,}ﬂl é?ugww&g (D 7
equation by using hydraulic press. o . )
Lt L e YU LE 20°C 2 0°C S, L2 ()
5 e 25x107° K7 RO R s R
(b) Calculate the increase in the length of an aluminium bar 2m long when heated from
0°C to 20°C . The thermal coefficient of linear expansion of aluminium is 2.5 x1 il S
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